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This question paper has 100 questions. Each question carries 2 marks.
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Read carefully instructions regarding method of answering questions given on the last page
and indicate your answers on the Answer-Sheet provided.

=

Use of any type of calculator or log table and Mobile Phone is prohibited.
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( . 3) Directions : (Qns. 1-3)
s ﬁ:q ™ T 8 A In the following questions, WO
g » & AT §1 F S oy A _ b
Iallﬁqq—& N N statements S1 & S2 are given followed by
& 1 3t e Slau sy lusi aking the two
mt"?%gq o _ two conclusions 1 & II. Taking
YRy ’ ﬁﬁﬁ:‘:ﬂa‘(A) (B)(C),(D) | statements SI and S2 as true, decide which
m@mﬁmm q NG one of the answer (A), (B), (C), (D) logically
L+, follows. ]
S1 1 F% R 3 | 1. Statements:
% F g R S1 : Some players are brave. f
Rl e §2 : All boys are brave. !
Ty 5O feed, wes § | Conclusions 4
II: %5 wes, e I : Some players are boys.
(2) ¥ [T Fd II : Some boys are players.
(@) Only I follows.
(b) Saw
Lo g (b) Only II follows.
©) TISRANTERE (c) Neither Inor 1T follows.
(d) R TaNICERE | (d) BothIand II follow.
2, HU9:
' 2.  Statements :
S1 : wf TgfeRa, TR E | S1 : All girls are engineers.
S2 : of) 7, At € | S2 : All travellers are girls.
e 1 mft=m, st { Conclusions :
11 : o+t s, RIEIR ] I : All travellers are engineers.
(2) FEA IR | !l Il : Al girls are travellers.
(b) e T A | I () OnlyI follows.
; l Only II follows.
(c) FIRANIAERE | j G
oS ! (c) Neither I nor II follows.
H1 I | i
@ = % (d) Both Iand II follow.
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S1 : ¥ Forelt e () 2 o Wy
qHAT R |

S2 : o < feremeff areet e v
WA g |

leﬁﬁmmm%l
11 : 1 77 <) fremefi 2 |

(2) F I B R |

() IR

€ TIRATNNEEIE |

(d) iﬁﬁlallm@ﬁ%

W ;TG 3eh! <l dedT fawm 2 2

FU71(S1) : IH FATIRR |

HYT 2 (S2) : T FHI 2 VI FA W

T G0 9T VT §reft ¢ |

(2) ¥ S1, T B I A F oY
T R |

(b) Fae S2, I HT IW W H o7 }
T 2 | l

(c) S1 9 82 gt firewe W 1 I ]
qH & | |

(d) S179 82 eRI et 3v7 1 W
¥ o vaia T # | !

Statements :

S1 : Renu can understand the problem
quickly.

S2 : Mathematics students have good
reasoning ability.

Conclusions :

I : Renu has good reasoning ability.

II : Renu is Mathematics student.

(@) Only] follows.

(b) Only II follows.

(c) Neither I nor II follows.

(d) BothIand II follow.

Questions : Is the two digit number
odd ?

Statement 1 (S1) : Sum of the digits is
even,

Statement 2 (S2) : The number, when
multiplied by 2, fetches an even
number.

(a) S1 alone is sufficient to answér the

question.
(b) S2 alone is sufficient to answer the

question.

(c) Both S1 & S2 combined can give
the answer of the question.

(d) Both S1 & S2 combined are not
sufficient to answer the question,
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A monkey climbs 2 pole of heig

5, WaguofRREN wEgmd | | 5 . clibs
Teet e # 15 wiex v § fh T 30 metres. In the first minute, 1 fips
e 15 metres but in the second minute 1P

12 e forerer man @ | @ & o jown 12 metres. The process continues
R S % g 0% g Nisha IR B | il he reaches on the top of the pole:
LAl wfrd o l§°a <1 W% Time required to reach on the top of the
(a) 10fme pole s

e (2) 10.minutes
(b) 11

(b) 11 minutes

i VTR (c) 12 minutes
(d) T A IS (d) None of these

6. TAT W@”@@E% | 35 3 %agi:n 6. Mahesh has some apples. He gave half
1 R e g:l'Sl 3 1 39 9g @ fr | of the apples to Suresh but got 1 apple
o e w3 a8 v & back from Suresh. Then he gave half of

JUcTeH Rl 5
' . the apples available with him to Dinesh
o & fa 1 2 feg e | R e and got 1 apple back from him, Third
e & foran | 78 IR 36, el ) time he repeated the same process With
i, Eﬁﬂ%mﬂm | 27 T 39 qE Harish. In the end, he was having the
A A 5 TR B ) | SRR same number of apples which he had in
3 s T A ‘eﬁ the beginning. Number of apples he had
, T _
™ in the beginning is
(a) 4 ' (a) 4
(b) 6 () 6
(c) 8 © 8
@ ¥ 1 T (d) None of these
CGP-19-02 Page No. 5 R
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I£N =795 — 358, then the digit at the unit

7. FWN=T-IL,@NIBERER | 7.
¥Hh B place of N is
(a) 3 (a) 3
(b) 4 (b) 4
(c) 6 (c) 6
@ 7 @ 7
8. TIWATLI3500Q E’@Q’W #13gt {8 Sunil bought two items in ¥ 1,350. He
T T H 6% ETE{WW?@'&@IS% sold one item at 6% loss and another
: item at 7.5% profit, This deal finally
S T (0 SR 5 g ends with no profit no loss. Purchase
T8 | QT g o 5 T, N € price of the two items are respectively
(a) ¥850,%775 (a) 7850,% 775
(b) <825, %723 (b) 825,725
(c) T750,% 600 (c) T750,% 600
(d) ¥775,%650 @ 7752 650
9, 999 3K 4000 % WeA (G # @@ | 9.  How many integers between 999 and
e 70, W Arm s R st 0, 1, | 4000 (including both) can be formed,
2,39 4 Q97T 1 G § AR 3Fh) Y il using the digits 0, 1, 2, 3, 4 if repetition
w.&;‘ﬁ 9 I of digits is allowed ?
(a) 325 { (a) 325
(b) 376 { - (b) 376
g () 425 l (c) 425
\ d) 526 ! () 526
CGP-19-02 Page No. 6 Set-B
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t two terms of the

5 10, o of & ot @) wdi W g | 100 Find the nex |
]
R . following series : |
ADB, EHF, ILJ, __, ADB, EHF, ILJ, __» —
(a) LOM, NOQ (a) LOM,NOQ
(b) MPN, QTR (b) MPN, QTR
() LMN, OPQ () LMN, OPQ
(d) NPQ, MNP (d) NPQ, MNP
o 1L frrfeiea o SUCRARCEEIE R 11. What are the next two terms in the
following ?
6,11,15,18,20, __,
, 6,11,15,18,20, _, __
(a) 22,23
(a) 22,23
b 2
(b) 21,2 (b) 21,22
() 21,21 (¢) 21,21
(d) 20,21 (d) 20,21
w12, P,QR, 87 TolfEEIT, s | 12 There are 5 friends P, Q, R, S and T.
wrpaTER IR, S IaEm A Q, T is shorter than S, but taller than P. R
, is taller than S and Q is a little shorter
S o a TR UG ar g | Had
‘ than S and little taller than T. The
Bre1 9 e T A € :
| shortest and the tallest are respectively
(2) PAR (a) PandR
(b) TAP (b) TandP
(c) SIT (c) SandT
(@) R3Q { | (d) RandQ
cGP~19-02 . P Page No. 7 Set-B
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38T T 2
1|P|D
K|Q|G
M|[R|?

(a) H
(b) 1
I. () K
(d) T A TE

Qe R 2 | F, 1350 IR A ARAUTF,
w1 g TH H AR | F, @ F,
wEartt § | e Sg0 g i AR ?

13, 9r g m o= | ) % WH W HPH @ 13.  Which letter will appear in

v 14. SRPEF,F, F,3RF,&dAaEw | 14

place of (?)

in the following figure 7

1|p|D
K|Q|G
R|?]

(@) H

(b) 1

(¢ K

(d) None of these

Four friends F,, Fp F3 and F, are

playing on a carom poard. F, faces

towards North and F, faces towards
West. F, and F, are partners. Who is

facing towards South ?

,'
(a) F
! (a) F,
(b) F
: (b) F,
(c) Fz
() Fz
(d) F,
(d) F,
15. @RS 1 fmm forsror ﬁ, 20% T | 15. In 1 kg. mixture of sand and iron, 20%
2 frala 39K fererr fean e e fp } is iron. How much sand should be
; Rraro 3 ST 10% B ST 2 l added so that the proportion of iron
‘ l becomes 10% ?
(a) 2T Il @ 2kg
(b) 1.5fw.m. | (b) 1.5kg
(c) 1Tem. | ©) lkg
(d) 0.5f%.m. ! (d) 0.5kg
CGP-19-02 € Page No. 8 - Set-B
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7ll1 from the leﬁ and

16. Te 9 &, ywig e @ 79  qur | 16 Inarow, Pramod is
ST, g @ oat & 1 3 oree) Rt Prakash is 9% rom the right B0 °°
them interchange their positions.
TR ¥Ee A 8 | i ;
T T | S T AR Pramod becomes & 1" from the left. How
S & | fefr o e b g 2 many people are there in the TOW ?
(@) 17 (a) 17
(b) 18 (b) 18
(e 42 (c) 19
@ 20 (d) 20
3w : (7T 17-18) Directions : (Qns. 17-18)
£ o R T =TE SRR B U AR The Pie chart given below }eprf:lscn.ts
the domestic expenditure of a family in
ST A L HH percent. Study the chart to answer these
et w1 Ie & AfG TRER $) o1 Witk 39 | question if total monthly income of the family
Ed 33,650% | is T 33,650.
A B
A B
25 | 18 i 25 | 18 ﬂ
D
D E
E | 23 N
A el ’ A Food
B T R i B House rent
. l C Entertainment
C TR
| D Education and maintenance of
D = i e 0T i children
E fafpean w@ I TG % E : Medical and miscellaneous
F . wisfafy l[ F Provident Fund
CGP-19-02 1ra ¥FCP 33!‘%3 356-5 page No.9723(-5 Set-B
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17. The total amount per month that the

g 1% TR GRT SIS TR T g
ﬁnﬁﬂﬁaﬁfﬁﬂigﬂu&[%; family ~spends on food | and
(8) T 12,443 entertainment combined together is :
() T12,315 (2) T 12,443
(©) T11,432 (b) ¥12,315
(d) 11,441 (c) 11,432
(d) ¥11,441

18, mmmwm% 18, The house rent per month is
(a) 6,000 (a) 6,000
(b) 6,152 (b) ¥6,152
(c) ¥6,057 (¢) ¥6,057
(d) ¥6,048 (d) 6,048

191 aﬁm%ma%{mqﬁ; 19. Find the next two terms of the

Z,5,W,0,T,K,Q,G,2? following series :
(@) N,C Z,5,W,0,T,K,Q,G,?2?
(@ N,C

(b) N,D 8 D
() 0,C © 0,C
CEL @ O,D

20. 9fc HINDU &' feeht gifoes sman & | 20. IfHINDU is coded as 61257 and MAN
61257 AIRMAN® 932 ferarsmard, @ | is coded as 932, then INDIAN will be
It Wiehfass w91 § INDIAN Y forr !l written.as :
RALE | (a) 125312

| (@) 125312 ll (b) 125132

i | (¢) 251312
(€) 251312 |
d) 121523 ! (d) 121523

ccslv-w-‘:);i “ﬁ% v;?‘;:m Page No. 10 Set-B

b ) é;s
\

Scanned by CamScanner



LT

w 2. o et o =1 9 ©s e AR gy | 21, Ifamonthinayearstarts with Monday»
AT e & o 3w W Rl vhER @ then the date of the fourth day after the
N Rr ) Rk B cecond Saturday in that month, il be
(@) 16 (a) 16
(b) 17 (b) 17
(c) 18 () 18
(d) 19 ) 19
A 2. A e igpaigad | aiised | 220 Inthe following series some letters are
HHE T =4 Ft | missing. Select the correct set of letters.
acbabacac a_cbabacac
(a) abacch (a) abacch
(b) accbab (b) accbab
(c) aabbcc (c) aabbec
(d) baccbb (d) baccbb
w23 A B 3 o 8, 7g C o e ¢ l 23. A is taller thari B, but not as tall as C.
% | D, E & o & g B foreren v el " Dis taller than E, but not as tall as B.
 SRREiL| F g o et L | l Who among them is the tallest ?
(@ C | (@ C
(b) B (b) B
(¢) E (c) E
d A | @ A
cGp-19-02 ¥ Page No. 11 — et
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25.

4, WEIHF IR :
NHP : 0GQ :: TLJ ; ?
(a) UKL

(b) VKK

(¢) UKK

(d) KUK

T wgeh! gl fewm i SR 92t B | 98
ug i g5 Ht fm  60° w@ el R
T T oh gd o fardia e 1050
o ST 8 | 379 e foew femm A @ 2

(a) I

® w

(c) wfeem

(d) afto-gd

24. Choose the correct group :

23.

AdB AT T 8 ST Y A R F | 26

e A P 1 A B ey |

NHP : 0GQ :: TLJ : ?
(a) UKL
(b) VKK
(c) UKK
(d) KUK

A girl is facing South. She turns 60° in
the clockwise direction and then turn
105° in the anti-clockwise direction. In

which direction now she is facing ?
(a) North-East

(b) East

(c) West

(d) South-East

A to B, “Yesterday I met the only
brother of the daughter of my grand

mother”, Whom did A meet ?

|
(a) HRE i
g I (a) Cousin
| | (b) Brother
(c) ¥refram I (c) Nephew
(d) fom I (d) Father
CGP-19-02 r Page No. 12 - Set-B
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&0 . 27-28)

Pefefan s 3 vt 1 s,
mmmmﬁmﬂmi:
27. 1. e

2. W

3. |

frgf
5. fagme

-

6. HAEA

>

(a) 5,6,2,3,4,1
() 56,3,2,4,1
(c) 5,6,4,2,3,1
() 6,5,4,2,3,1

v 28. 1. 9@R
2. 9YEE
3. #eHE
4. T
5. %W
@) 3,1,2,5.4
® 3,1,2,4,5

(c) 3,1,4,2,5
(d 3.1,4,5,2

|
|
I
I
|
|
|
I
I
|
|

Directions Qns. (27-28) :
In each of the following questions,
e the words in 2 meaningful, logical

arrang ‘
propriate

crder and then select the ap

sequence from the alternatives given below

each of the groups of words.
27. 1. Probation
Interview
Selection
Appointments

Advertisement

B AT e

Application
(@) 5,6,2,3,4,1
(b) 5,6,3,2,4,1
) 5,6,4,2,3,1
d 6,5,4,2,3,1

28. 1. Family

2. Community

3. Member
4, Locality
5. Country

(a 3,1,2,5,4
(b) 3,1,2,4,5
() 3,1,4,2,5

(d) 3,1,4,5,2

GP-19-02
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4. 29. ‘ADJECTIVE’' Y% ¥ & ye% R ! | 29 Each vowel of the word ‘ADJECTIVE’
3TilS SUTHTET < TR J7&R & 9T T is substituted with the next letter in the
9T F 35% R aeR ¥ yheefe English alphabetical series and each
Rt ST &, 2 et e e b consonant is substituted with the Jetter

b
= preceding it. How many vowels are
present in the new arrangement ?
(a) =W
(@) Four
(b) TH
(b) One
© @
: (c) Two
d) o=
@ (d) Three
« 30. 3 UNIVERSITY WS % el & ‘A’ 1 30. If from the letters of the word
@l ‘B’; ‘B’ % “C @ SITe ¥ 36 T UNIVERSITY, ‘A’ is written ‘B’, ‘B’
e 91d, @ Frefife s & @ 3N is written ‘C’ and so on, then which of
AT G TR & R e F T AR the following letter is the third to the
e R R 0 left from third letter from right ?
M
@ M (a)
®) A (b) A
() Z (c) Z
(d) T HE T -(d) None of these
CGP-19-02 Page No. 14 T Set-B
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e 3L Wﬁ%aﬂaﬁmg,a@mm 31

petween first

The relation which is in .
¢ relation

two, establishing the salr

N S ST petween the Jast two gill up the spacc of
ﬁl@%m?ﬁt@m g question mark.
TALE : LATE::?: CAFE TALE: LATE::7: CAFE
) RaGE (a) FACE
(b) CAEF (b) CAEF
(c) FEAC (c) FEAC
(d) CEFA (d) CEFA

¢ 32 Ll ﬁ FAAM 3T o T 3yg i 32. Presentage of mother is three times the
TR R | 12 T g W g a8 R present age of daughter. After 12 years
g H QT A St | 5 R adwe mother’s age will be twice of daughter’s
g Fpai 8 2 age. What is the present age of daughter ?
(a) 1894 (a) 18 years
(b) 167 (b) 16 ycars
(c) 149¥ (c) 14 years
@ 127a9 (d) 12 years

w33 i & s g % U I I 8, 99 18 } 33. One term is missing in the following
1 T T | series, find the missing term !

M3V, 05U, R7T, T9S, W1IR, ? i M3V, 05U, R7T, T9S, W1IR, 2
@ YI13Q | (a) Y13Q
(b) Z13Q || (b) Z13Q
(c) Y13P | (c) Y13P
@ YI15Q I @ Y15Q
CGP-19-02 Page No. 15 : e
- s 3 o ol
v 2y 70 o ':% *‘En

Scanned By CamScanner



A

& (e s 34.35)

et qemet w ameia vt &

W i

() PxQ w3 p, Qe Rare’
(i) P-Q 13 ‘P, QI T Y
(iii) P+ Q w31 P, QFrwi &’

(iv) P+ Qw1 31 P, QT WE &’

| Directions (Qns. 34-35) :

Following questions are based on the

information given below :

(i) ‘P x Q’ means ‘P is father of Q’
(i) ‘P=Q’ means ‘P is sister of Q’
(i) ‘P + Q’ means ‘P is mother of Q’

(iv) ‘P + Q’ means ‘P is brother of Q’

34. B+DxM+NafmafmdM® B® | 34. Inthe expression B+ D x M + N, how
TR is M related to B ?
(a) it (a) Grand Daughter
(b) (b) Grand Son
(c) Son
(c) ¥ .
@ o (d) Daughter
35, fr g N SI?NE:I Rl % f R, M { 35. Which of the following represents ‘R is
B ici k- | niece of M’ ?
(@ M+KxT+R ! () M+KxT+R
®) M-J+R-N (b) M=J+R-N
(c) R-MxT+W ©) ReMxT+W
(d) R+MxT+W !
| (d R+MxT=+W
CGP-19-02 Page No. 16 Set-B
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36.

37.

LA

?ﬁ ‘eraser’ Y ‘scale’, ‘scale’ W
sharpner’, “sharpner’ st ‘pin’, *pin’
‘bag’ 9 ‘bag’ Wl “pencil’ T T8, @
EE S by
(a) scale

(b) pencil
(c) bag
(d) pen

U : W AC, DC E, $8 DC, EC §
WHEC, YY R |

freed -

(i) $SAC,ECH|

(i) IS YY,DC? |

(iii) 1§ AC, ECTEI 2 |

(iv) ®DC,ACE |

i w2

(2) 9 (i)

(b) e (i) |

() (i) 3 (i)

(d) (i) 3 (iv)

7

36.

' ¢ *is
If *eraser’ is called tscale’, ‘scale

called ‘sharpner’s ‘sharpner” 1S ca]!e'd
‘bag’, and ‘bag’ 1S

‘pin’, ‘pin’ 1S called
E A erase

called ‘pencil’, what will a person
with 7

(a) scale

(b) pencil

(c) bag

(d) pen

Statement : All AC are DC, some DC
are EC, all EC are YY.

Conclusion :

(i) Some AC are EC.

(i) Some YY are DC.
(iii) No AC is EC.

(iv) AllDCare AC.

then correct conclusion is :
(a) only ()

(b) only (ii)

(c) (i)and (iii)

{d) (ii) and {iv)

38. QTWATB, 125fEM MgPwR 1 |38 Two cities A & B are 125 km apart.
ue AfH P, MR A § e B i 3TN e Person P started from city A towards
073099, 25 Fr 3 SRy s AR 3R = iy 0'7‘50(;"?& ot the speed o

- r and Q started from city
Q I B # TR A @ aﬁtgﬁg | towards city A at 07:00 a.m. at the
07:00 59, 30 fefl. TR AT | speed of 30 km/hr, then they will meet
e & 4 a9 e o Pl ¢ | at
(a) 09:30 a.m. | (2) 09:30 a.m.
(b) 09:45 am. I (b) 09:45 a.m.
(¢) 10:00 a.m. | (c) 10:00 a.m.
(d) 10:15am. | (d) 10:15 am.
CGP-19-02 Page No. 17 Set-B
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39, 6GH A2 et P wm A SRA | 39, 6 boys and 2 girls can do a workiin g
A& W E, s 13 v o 7 days, while 13 boys and 7 girls do the
TSI 3 R 2 Rt d s awd &, same work in 2 days. Then 7 boys an
Fh 7 mw 3 meﬁ ’RT 3 gir]s can complete the same work in
Y |

(a) 4days
(a) 4feid
]

- (b) 4z days
(b) 4bfeid ) G5 oy
() 6feaid (c) 6 days

Loy I
(d) 6;feia (d) 6; days
x_40. W&%ﬂaa%—i’%mm% 40. Whatisthevalueofg—tgif%=7?

(@) 173 (2) 113
(b) 2/3 (b) 2/3
(c) 4/3 (c) 4/3
(d 7/8 (d) 7/8

41. PaurQ fierm fhdt wm el 12f@Hqm | 41. P and Q together can do a work in 12
HEHRdE | QAR 6T | PaR | days. Q and R in 6 days. P and R in 4
47 H @ P,Q,R T uY e Em | days. If P, Q, R work together they will
B T H : ; complete the work in :

(2) 2fAid (a) 2days
(b) 4 . I (b) 4 days
(c) ST (c) 5 days
@ st ! @ Stdays
CGP-19-02 : Page No. 18 ] Set-B
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42, PR & g TR R

. 42. Which of the following is included in
e 7 interpersonal skill ?
(2) AR H BT HE I S H (a) One’s ability to give cormrect
o | answer to the question.
(b) =fF TR =R % Ty Tt (b) One’s ability to interact effectively
mﬁfﬁ'l'qamﬁﬁ e | with other people.
(c) aﬁﬁ?&ﬁﬂﬁ%ﬂ FTEE (c) One’s ability to do his/her work
&1 e | properly.
() =6 T 3 v T (d) One’s ability to present ideas at a
i . fi :
& l conference
43. Freatfien & %1% & w7 F=ERS | 43, Which of the following are influencing
IS Bl TG W I8 7 factors of interpersonal skill ?
(1) gwa (i) Experience
(ii) ®I-T1 (i) Appeérance
(iii) TRER (iii) Family
(iv) fm ! (iv) Friends
(2) (i), (iif) T (iv) (2) (i), (iii) and (iv)
(b) (), (i) W i) | (®) @), Gi) and Gid)
(©) (@), (iii) T (iv) I (©) (i), (iii) and (iv)
() (@ (i), (i) T& @) | @ GG Gi) and )
l
CGP-19~02 Page No. 19 Set’d
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45,

46.

. Al AT TG & T I TR & frh
wIF % T & wem a1 ST wE
9Ed €, o galfte STgw wsm
et dwm e g ?

(a) TT-Hg EHT

(b) fg-mmila aweo

(c) I qEiu

(d) S gEi

T TS T I8 arataah B d

T ARl %1 AR @ P

(a) 3 R IAEHFREAE |

(b) 3wt 1 T T & |

() ¥ 3w % gy eATeH AT
W@ 3

d) FHawf

ST w3 wff §
() FFEEIAEE

(i) eI

(i) ST T

(iv) FEdrT

(a) et (i), (iii) T (iv)

(b) a0 (i), (iii) T (iv)

(c) e (i), (ii) T (ii)

(d) (), (i), (iii) T (iv)

44,

45.

46.

—— T S T T — TR S——d LA WL Vi o —

If you want to address or to make aware
all the citizens of your state about a
particular programme, then which of
the following is the most appropriate

communication ?

(a) Small group communication
(b) Two-way communication
(c) Non-verbal communication

(d) Mass communication

People with good interpersonal skills

are required in an organisation because

(a) They are more productive.

(b) They look for solutions to
problems.

(c) They have positive attitude
towards their work.

(d) Al of these.

Interpersonal communication includes

(i) Active listening
(ii) Persuasion

(iii) Suitable language
(iv) Feedback

(2) (i), (iii) and (iv) only
(b) (i), (iif) and (iv) only
(©) (), (ii) and (iii) only
@) (), (i), (iii) and (iv)
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W
. 'q'lH o .
O gffa W@Emﬁ | | 47. Pal has some hens and some goats- If all
R Ty 3
i 3 I 43 R otk % 142 heads of animals are 43 and fects ar¢ 142,
» T % vy F Tt ahfaf g 9 then how many hens Pal does have ?
(a) 128
(@) 128
(b) 21
21
(€) 15 ol
c) 15
(@) e s R s X
(d) Cannot be determined.
48.
T oy Y S 1 48.  Read the given statement carefully
() 7 T et ) g (i) Number of minutes in 7 days.
. ii) Number of hours in 60 weeks.
(i) 60w i o1ty e R
n—s. M Choose the correct option :
‘ (2) The quantity of (i) is greater than
(@) (1) 1 = (if) < e @ At B | quantity of (ii).
(b) (ii) Y = (§) < T @ A § | (b) The quantity of (i) is greater than
. ti 1).
(¢) 2t ¥ oo
’ : (c) Both quantities are equal.
) T TE Y S HHA |
(d) Comparison cannot be determined.
29, ; 5
-/:\‘ Gt S I =t G.n?
W T m’ & R W m’ & 3R How many m’s are preceded by ‘m’ and
AT ‘0’ B ? followed by ‘n’ ?
(a) 2 (a) 2
(b) 3 | (b) 3
(c) 4 | (c) 4
@ 1 { @ 1
CGP-19-02 . ‘3:%0 Page No. 21 l Set-B b
e 24 g T - \::‘%b 'mw—,j) nﬁmﬁmmmmnp@n
: . TR F << ot =5
RS o

Scanned by CamScanner



N

« 50. 9 9 forww gt A B,C,D3NE |50, Average of five consecutive odd
1 S 41 | A 3 £ o1 e € numbers A, B, C, D and E is 41. The
product of A and E will be.
(@) 1977 .
(a) 1977
(b) 1517
(b) 1517
(c) 1665
(c) 1665
(d) 1591
(d) 1591
X 5L ﬁw@@‘ﬁ 60% T a1 & T | 51, If 60% of the student in a school are
ST N wEA 812 F, 7w AH A boys and number of girls is 812, then
e ki the number of boys will be
@) 1218 (a) 1218
(b) 1200 (b) 1200
(C) 1217 (C) 1217
(d 1210 (d) 1210
52. YIS % 99 U 3G qu1 36 uid # | 52 Atthe time of marriage the average age
Jad 3177 23 99 off | 5 9 & g of woman and her husband was 23
UTH 1 99 % =1 8 | 379 E9R qRE 6l years. After five years they have one
v oy e & 2 ] year kid. Now what is the average age
of whole family ?
(2) 19
‘ (a) 19 years
b) 28534
®) ! (b) 28.5 years
©) 237 { (c) 23 years
(d) 29399 ! (d) 29.3 years
CGP-19-02 p Page No. 22 _ B\ 4 ‘ Set-B :
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unmmmm.uuumummu
ﬁm&ﬁﬂ%’f 1")1/‘% 175% %-E;NT
(a) 1404
(b) 1440

(c) 1044
(d) 404

54 SA00FT32% + 760 51 150w

(@) 2912
(b) 2848
(c) 2722
(d) 2802

S

55. O TRMETS : 9 ¥ sy # £ 1 7R s | 5.

et 24 2, A g uin R
(@) 27
(b) 9
© 7
(d 63

B S

Thenumber\ﬂm:el‘“ 9545 17542 will

be

(@) 1404
(b 1440
(c) 104
(d) 404

The value of 32% of 8400 + 15% of 760
is

(a) 2912

(b) 2848

(CN2722

(d) 2802

Tywo amounts are in the ratio 8 : 9. If the
first one is 24, then the other quantity is

(@ 27
() 9
(€) 7
d) 63

56. PR ERIF AR 15 HH, 25 % | 56. Twice of a number decreased by 15
TOH 8, 79 98 &I & - equals 23, then that number will be
®) 25 } ®) 25
() 30 I (c) 30
(@ 35 @
e
CGP-19-02 Ay, €75 PageNo.23 Set-B
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57. AR n 3 p A fwm F@ E A ST

If n and p both are odd numbers, then .

Fafeies g § & o & 9o @ which will be even number of the
Bt 2 following numbers ?
(a) np (a) np
() n+p (b) ntp
(c) np+2 (c) np+2
(d) n+p+1 d) n+p+]
58. qﬁAmem%,A,B%Eﬁmﬁ%; 58. IfA x B means A is in the South of B,

A+BHF 7R, A, BHIWAZ, A+B A + B means A is in the North of B,
# ad 8 A B ¥ @ ¥ g A + B means A is in East of B, A-B
A_Bq;[aqef-g,A’Bg;q-fﬁ-qﬁ%,;ﬁ means A is in the West of B, then in
P+Q+R—SﬁSQa§mﬁ&lﬁiﬁﬂﬁm P+Q+R—Sinwhichdirectioniss
329 with respect to Q ?
(@) ?"m—ﬁ (a) South-East
®) - (b) South-West
© W‘Ié (c) North-East
@ ST (d) North-West

 59. aﬁ+aﬂaxef+,—aﬂani+,x-ﬁrmiﬂ 59. If+ means <, — means +, x means — and
IR w7, @ | + means x, then 16 + 12+4 -6 x8=1
16+12+4-6x8="7 l (a) 36
(2) 36 |

l (b) 46
(b) 46 !
(© 19 | @
(d) 162 ‘I (d) 162
CGP-19-02 B 3 Page No. 24 Set-B
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T

.o Bzmﬁaémg’c“;'ﬁﬂ% | 60. A isafriend of Band B is a friend of C.
- § Cmﬁi% | Conclusion : A is a friend of C.
mﬁ% The above conclusion is
o = (a) True
® m% I (b) False
© a’ﬁﬁa—,‘% I (c) Uncertain
9 mﬁm% ' (d) Irrelevant

761 TR A G e wa 4w | 61, 1o an examination Sudhir’s position is

Uh B R iy d 18572 | 7fe gt 14" from the top and position of Pankaj
T M R 26372, 4 T @ v is 18 from bottom. If Sudhir’s position
HHHIR 92 is 26" from bottom, then what is the
< ition of Pankaj from top ?
(@) 265 position j p
®) 24 @ 26"
. (b) 22"
© 2 (c) 20"
(d) 21a7 @ 21°

62. THEEEEM YR 15 fFe o B

{ 62. A clock is fast by 15 min. in 24 Hrs. It
2 | 39 SR 12 T Wl fop s g | is made right at 12 noon, what time it
4 am WG} & fpean g g 2 ; show at 4 am ?
(a) 4:10am ‘ | (a) 4:10am
(b) 4:15am % (b) 4:15am
(c) 3:45am ] (¢) 3:45am
(d) 4:30am ! (d) 4:30am
GP-19-02  * PageNo.25 Set-B
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63, 5 & 7 anee s, < 5 W T

63, Which letter comes in place of *?" in the

following letter series ?

\T@M\

Page No. 26

19 1 AR 3T 9
GDFCE 7 GDFCE_1.
(a) A (a) A
(b) B (b) B
(c) H (¢) H
(d) I (d 1
L 64. F<t 7 e ST@ef #, 2 % WM W | 64.  Which letter comes in place of *?” in the
<9 TT SR T 9 following letter series ?
IDYTO_? IDYTO 2
(a) I (a) I
(b) 7 (b) J
(c) K (c) K
(d L (d) L
S 65 A& 7 oW g@wen &, 2 $ WHM W | 65. Which letter comes in place of 7’ in the
B T ITET 71T 7 { following letter series ?
WTROMJ 2 I WTROMI T
@) F % (@) F
b) Z | (b) Z
(c) H I (¢ H
(@ K l d K
CGP-19-02 T
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s

Ly
" ﬁjﬂmﬂﬂn!wmmum

| i
mﬂ“ﬁﬁqﬁ; IRE I | 70, o g o
@) - ORERLIETS!
®) - (b) e
(c) ~ 3y (c) HHT T
(d) - ¥ (d) 3uHTRE HE
67. ] y N ”
Ty ﬁﬁ?ﬂﬂm%? 1. ;i;:r:; ....... HEEA < Tt WH
(a) = dltey :
®) - (@) e
e @R
© - (b) =g
@ -vn (©) TR
(d) HoEER
68. BT . .
R S e g 72, UFRE’ § PH-TEE R 7
(2) el
(a) T
(b) vy B B
) ey (c) TR
d =
Sl | @ fa
69. GRAGHH F wreg a1 g 4 73, o g ¥ R sandt e -
(&) Saw () FreE
(b) EA-TR () wid-slar e
(c) @it | (©) Fhan v
(&) w=Ea { @) P
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SRR A

AR

SO

w 4. SRS A vy el 2 79, el o i e R aa g
(a) [LCEH W%’a-s%
(b) GTTH (2) T
(Z) e (&) kol
NEERE T Ry e——y (@) aRee
(a) Touseh ey ,
© Rezr () FremferereeT
@ ¥ (b) WeyaEH
(c) TS
¢ 76, ST Weg & 1 fid v R (d) fRromeaiush
(a) &
(b) & 4 81, wETg RN F TeA-TT “I ¥ %
(c) YT 1,7 3 iR BT AT 8 ¢
(@ & (a) GEER I
) ~ ) (b) & G
W77, O G @ g, T ¥ @ 99 © @ 75
TRt 1 o & -
o o . (d) THEH TELET
?:)) E | 82. “TErETel o DR K b AEH-
(d) HI | ks
| (a) . fFAFAR TE® W@ . T
8. EEARY, TRAR Y ReA R
R | () < foeom o g
(2) Tl I (c) <. W 9 7el e o, e
(b) et | L2
© =& | (@) & fetee o7 @ o e
(d) S I BRI
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WY i .
(1) Wa g T B8, a1 wfor-fopae

©) wo g () 3 + fiy
) W g (by &+ afr
(@) Wy g (o) W rfirm

i T (d) arafy 4+ 5
O | b0, Pt e
(b) Ty - (n) ¥ war w i e |
(¢) Sfeh (b) o i fireefl e |
(d) Sl (c) # 3 wa w freeft ¥eh |

(d) e % HR fireeh 2w |
. T s " 1 3 e

e 90, Prefmardd gzl
(a) 5g (a) wfa
(b) w5 (b) wwrei
(¢) 3 () e
(d) ®m (d) wEY
B6. TR W% R vt 4 a9 91, g % fohe g d 0
O (a)
ORi BCE
(c) ¥R (c) ui
(d) B% | () 8
7. S T T S ) el 92, “fiTeRmET O HI-TT A B 7
(&) FHHET (a) gt
(b) WW I (b) HHURT
(c) e i @ | @ fa
(d) TR T o g BECR
CGP-19-02 Page No. 29 Set-B

Scanned by CamScanner



B |
TR JIN
L9 TE W A e aw-aiem F | o, e F 4 N
(2) ¥ | mwaﬂmm%?
® —fﬂ; (2) R 1!
((:)) S o) T
() THFE
04. THER T T FHT F ATF (@ #
AR : THR 3 7
(a) 3. fEFm wes @ S | 98, ‘m’mﬁﬁﬁq—m ¢
WW . ) (a) -,;aqa’raa;
b) ol TR wes W S (5) T
m =
(©) & frwgm wes W S () ™ 7
ferivegm amt (d) Sfar
(d) . fomegarR Wes W =L
ferfregprm -99. mﬁﬁﬁﬂiﬁﬂﬁﬁgf“a"é'ﬁm
FEd s ?
95, Frefafan § A T ST % A (a) T
e | (b) I
(2) Teerdl
(b) 2 () 'CEU
(©) e % (d) TR
(d) S |
| 100. Tl v, I B T R
96. ‘ﬁ%ﬁ@?ﬁmaﬁ'{m’%m% l @ gg?ﬁ
(&) ¥ e Il o
(b) . Faeem | ™
(c) <. T g TE | @R
() @, vgEh ! ) I
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